CXEMA 3ANYACTEM GESIPA GBM10

102 116
130
140
150 —
160
103 \E \
108
R I
e
141 o t'_' 12
151
162 107
161
101 145 7092 Tool housing with sleeve grip no. 115
102 145 6627 Tool shanks with sleeve grip no. 116
103 143 4772 Lock activator
107 145 7094 Stop screw with scale label
108 143 4773 Locking nut
109 143 4074 Lever
112 143 4076 Bolt
113 143 4075 Bolt
114 144 5259 Snap ring
115 150 9066 Sleeve grip for ool housing no. 101
116 150 9068 Sleeve grip for tool housing no. 102
120e 144 5261 Self opening spring
130e 145 7096 Threaded mandrel M 3
140e 143 4776 Threaded mandrel M 4
1500 143 4779 Threaded mandrel M 5
160e 143 4781 Threaded mandrel M 6
131 145 7095 Nosepiece M 3
141 o 143 4777 Nosepiece M 4 and 8-32”
151 e 143 4780 Nosepiece M 5 and 10-32”
161 o 143 4782 Nosepiece M 6 and 1/4.20"
162 1445739 Coil spring
A 140 143 4784 Threaded mandrel 8-32”
A 150 143 4783 Threaded mandrel 10-32"
A 160 1434785  Threaded mandrel 1/4-20"

* Wearing parts

®
KomnaHus iRivet Ten: (495) 135 4201 G E s I PA
I OO0 “AMPUBET” Ten: +7 916 922 6789

www.irivet.ru Mouta: order@irivet.ru ’I




